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Reading

Task 1:  Read the text and do the task that follows. Below you will find four headings. Each heading describes the contents of one of the paragraphs in the passage. However, since there are eight paragraphs and only four headings, four of the paragraphs will not fit any of the headings below. You need to choose which heading best describes which paragraph. Write the letter of a paragraph next to the number of the heading 1–4 on the separate Answer Sheet.

 The Green House Effect

(A) Saving the world begins at home. The energy we use to power our daily domestic lives and drive our cars produces almost half of our output of carbon dioxide, the gas which is the main contributor to the problem of global warming. The way in which we use energy is not only polluting but also incredibly wasteful. But there is nothing to stop us greatly reducing our energy consumption and creating a more comfortable 

world.

(B) Redesigning the home to bring our lifestyles more into balance with what the environment can cope with need not involve expensive or painful changes. Most of the technology to make the changes is already available. When the changes have been made, the home of the future will be a better place to live in. So what will it be like?

(C) We will have switched from ‘fossil fuels’ – coal, gas and oil – to sources of power which are non-

polluting such as windmills or using the power of tides. Houses will be heavily insulated and heating systems made much more efficient. In addition, our future homes will use low-energy light bulbs.

(D) With water costs rising enormously, most houses will trap rainwater and store it in a large, well-insulated tank in the cellar. This tank also serves to save energy: heat is recycled from other parts of the house to maintain a high water temperature for washing and central heating.

(E) Recycling waste will be much more common than it is today. Tins, bottles, plastic, and paper will be put into vents in the wall from where they will fall into divided bins for collection. All vegetable matter will go straight on to a compost heap in the garden.

(F) The home will be a cleaner place. Air conditioning will do much more than keep you cool. It will improve air quality by filtering out contaminating dust mites and by controlling moisture andcondensation.

(G) Outside the home as well, life will have become more pleasant. The car will no longer be the threat to our health that it is today: it will run on hydrogen or a mixture of battery and safer petrol. It won’t be allowed to clog up our cities: people will use the tram, a clean, fast, and quiet form of city transport which many cities are already reintroducing.

(H)This picture of the future is one which should appeal to all of us. It’s one that our grandchildren could take for granted, not believing that people lived any other way, that people went around polluting, destroying, wasting resources, and apparently not caring. But if we want our grandchildren to have a world which is cleaner and safer, we have to start to change our ways. The picture of the future can become a reality but only if we do something about it. And we should do something about it soon.
1. Homes of the future will be more hygienic.
2. We ought to change the way we live.
3. The way we live now damages the world.
4. Future energy needs will be lower and not cause pollution. 
Points: 8
Task 2: For questions 5-10, choose the answer (A, B, C, or D) which fits best according to the text. Transfer your answers to the Answer Sheet.

5. The author’s intention in writing the above article was to show...

A.the sort of future we can expect for our grandchildren.

B.why we should reduce pollution and use energy more efficiently.

C.why we have taken steps to reduce pollution and improve our use of energy.

D.how changes in house design will encourage people to use less polluting energy.

6. Which of the following statements is the author most likely to agree with?

A.In the future, houses will be much healthier. 

B.In the future, people will produce much less waste. 

C.In the future, very few people will own their own car. 

D.In the future, the problem of global warming will be better understood.
7. In the passage the author explains... 

A.why using less energy has become more popular. 

B.why sources of energy are going to become more scarce.

C.how savings could be made in the way energy is used. 

D.how, unless we use less energy, energy costs will rise. 
8. In the passage the author DOES NOT explain...

A.how our cities could be made cleaner. 

B.why our use of energy needs to change. 

C.why water costs will rise in the future. 

D.how the way we live produces global warming. 
9. According to the author, one of the differences between our way of life and that of people in the future might be that...

A.cars will be much cheaper to maintain. 

B.fewer people will travel in the cities. 

C.cars will have far more safety features. 

D.cars will be used less than they are today. 

10. The passage describes the homes of the future. Such homes, according to the author, might NOT be built if we... 

A.could not afford the necessary technology. 

B.could not find alternative sources of energy. 

C.were unable to reduce the amount of waste we produce. 

D.failed to agree to make necessary changes in our lives. 

Points: 12
Task 3: Read the text and mark statements 11-15 below as T (true) or F (false). Transfer your answers to the Answer Sheet.
On 2 November 1982, the British public turned on their television sets for the arrival of the nation’s fourth TV station, called Channel 4. They were greeted by the smiling face of local TV news presenter Richard Whiteley, who welcomed them with the words:‘As the countdown to a new channel ends, a brand new countdown begins.’ And with this sentence, the words and numbers game show ‘Countdown’ was launched.

The rules of this new game show were as follows: two contestants faced each other over several rounds of games with letters and with numbers. Finally, there was the 52 Conundrum round, where contestants had to work out the nine-letter anagram. At the end of the show, the contestant with the highest score won and was invited back the next day to face a new challenger.
However, despite the simplicity of the rules, those who watched the early editions of the 30-minute show, which was on five days a week, could hardly have imagined that it would last any longer than the original seven weeks that had been planned for it. The first contestants and guests were not exactly the most exciting people on television.

But luckily for ‘Countdown’, there were enough old people, university students and other people with nothing much to do each afternoon to keep the show alive.When the show began, Carol Vorderman won over fans with her amazing mathematical abilities. ’Countdown’ made a celebrity out of Carol, and these days she’s a familiar face on British TV. Despite her fame, Carol still loyally turned up on ‘Countdown’ 

each day to turn over the letters and show the contestants how to solve the numbers game until she retired in 2008.

Yes, that is correct –nearly 30 years since it began, ‘Countdown’ continues to keep its audience’s brains working every afternoon. In fact, on 3January 2006, it celebrated its 4,000th show. Other signs of its success include the increase in the length of each programme to 45 minutes, the addition of a show on Saturdays and the number of British celebrities who have made an appearance.
11. ‘Countdown’ was the first programme ever shown on Channel 4.

12. Every day two new contestants compete to become ‘Countdown’ champion.

13. Originally only 35 programmes of ‘Countdown’ were planned.

14. The early shows were popular with working people. 

15. Carol Vorderman is no longer involved with the show.

Points: 10
Part II: Use of English
Task 4. Read the following text below and decide which answer A,B, C, or D  fits best each space (16- 25). Circle the right answer. Transfer your answers to your Answer Sheet.

Child prodigies

Occasionally a young child with very advanced academic abilities is admitted to university. These children are of course (16)…., or child prodigies. Typically, they begin their undergraduate studies at university before they are fifteen years old. After finishing their first (17)….. - they usually sail through it in a year or two-they continue to do (18)….. studies in a specialized field of medicine or science. Many of these talented youngsters receive (19)…..from very prestigious educational institutions to help pay for their studies.

Some of the older students dislike being (20)..... in seminars with a child prodigy. They (21)..... it rather annoying when someone so young excels at the subject so easily while they (22)…..over their courses. Others, however, benefit from the experience of (23)…..their subject with a child prodigy. The (24).....who run the seminars, however, generally enjoy having such gifted (25)…..!
	16
	A coaches
	B instructors
	C geniuses
	D lecturers

	17
	A skill
	B certificate
	C degree
	D qualification

	18
	A postgraduate
	B apprentice
	C technical
	D practical

	19
	A licences
	B scholarships
	C services
	D schedules

	20
	A taught
	B assessed
	C reviewed
	D reported

	21
	A search
	B find
	C seek
	D seem

	22
	A hesitate
	B agonise
	C reflect
	D study

	23
	A chatting
	B discussing
	C talking
	D arguing

	24
	A tutors
	B trainers
	C markers
	D examiners

	25
	A trainees
	B students
	C apprentices
	D employees


Points: 10
Task 5: For questions 26-40, read the text and look carefully at each line. Some of the lines are correct and some have a word that shouldn’t be there. If a line is correct, put a tick (√) in the appropriate box on your Answer Sheet. If a line has a word which should not be there, write the word down in the appropriate box on your answer sheet.

Big brother is watching your health

0. By 2030, we can expect our clothes, food and local authorities – as opposed to our doctors– √
00. to check we’re in shape. The health system won’t be as if we know it. Instead of              if

26. spending the billions on cures for the ailing, it will invest primarily in prevention and

27. day-to-day well-being. Stethoscopes will be sound out our surroundings. The precise

28. contribution of pollution to a disease and ill-health will be known, and public demonstrations

29. will call for more green space or demand fast food outlets are banned. For climate change

30. and affordability reasons, as well as to health, vegetarianism will boom, growing from

31. around 7% of the UK population today to more like a quarter of in 2030. Foods to enhance

32. health, such as nutraceuticals, will be top sellers. Health monitoring will be ubiquitous.

33. Your toilet will check out your urine and flag up anything untoward, and clothes with built-in

34. heart rate and body temperature on monitors will keep an eye on you. And there’ll be rewards

35. for wholesome lifestyle choices: bonuses from your employer if you will go vegetarian,

36. or government tax breaks for running a race. If ever you do feel a bit peaky, remote

37. diagnostics will get into you back on your feet. Home testing and down the line advice mean

38. you’ll not have had to leave your house. If this vision fills you with hope or horror, it’s

39. likely be for a number of reasons. With an ageing population, preventative medicine is a

40. great way to cut down off costs leading to more effective interventions as well.

Points: 15
Task 6: Fill the gaps 41-55 with ONE word. Transfer your answers to the Answer Sheet.
Sandwiches make a delicious snack any time. They are a common sight at picnics and teas. Interestingly enough, the sandwich is the invention of ___41___ eighteen century English Earl called John Montagu. Montagu was addicted ___42___ card games. He would play these games with his friends for long stretches of ___43___ . Often, he even found it __44___ bothersome to stop his games ___45___ meals.

One day, in the middle of a game, Montagu was served a meal of sliced meat with bread. At that time, Montagu was playing the game that ___46___ its players to cover cards one on top ___47___ another. As Montagu looked at ___48___ the game and his food, an idea came to his ___49___.

"I can do the same with my food __50__ well," he thought.

He took a slice of bread, ___51___ a piece of meat on it and covered that with ___52___ slice of bread. Montagu was very pleased with his invention ___53___ it allowed him to play cards with one hand and eat his meal with the other.
Montagu's friends quickly caught ___54___ to his idea and they named the new invention ___55___ him. As Montagu's full title was 'the Earl of Sandwich', the new invention became known as a 'sandwich'.
Points: 15
Part III. Writing

Task 7: Write an article for a magazine comparing the way your grandparents lived and the way you live. Compare for whom it is more difficult to make a living and whose life is more pleasant.  

OR

You have heard that the local council is planning to set up a fund for schools in the area in order to improve the quality of education. Write a letter to say how should schools benefit from the fund and what improvements should be made.

(You should provide opening and closing expressions but you do NOT need to include addresses.)     

Write 220 –250 words.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Points: 20
Part IV. Listening

Task8: Listen to Kelly and Jason’s conversation. Decide if each question 1 – 10 is TRUE, FALSE or the information is NOT STATED in the text. Put a tick in the proper box on your Answer Sheet.
	
	
	TRUE
	FALSE
	NOT STATED

	Example
	Both Kelly and Jason think that obesity is 

common today. 
	
	
	

	1
	Kelly thinks that people’s diets now are less 

healthy than in the past. 
	
	
	

	2
	Jason thinks there are a lot of people now who 

do not know how to relax. 
	
	
	

	3
	Jason and Kelly share the same opinion about 

people not sleeping enough. 
	
	
	

	4
	In Jason’s opinion some people go to bed late 

as they enjoy dancing at night. 
	
	
	

	5
	Kelly believes that cycling to school is 

becoming more popular. 
	
	
	

	6
	According to Jason there are more cyclists in 

the cities today as they care about pollution
	
	
	

	7
	Kelly says that air pollution in the cities is 

getting worse. 
	
	
	

	8
	Jason says that Kelly is often ill.
	
	
	

	9
	Kelly thinks that teens suffer colds for a couple

of days only. 
	
	
	

	10
	In the end, Jason and Kelly agree about young 

people’s health. 
	
	
	


                                                                                     Points: 10
Total: 100                                                                                                                                Your total: 

GOOD  LUCK! 










